National Testing Agency

Question Paper Name: HOME SCIENCE 1st July 2019 Shift2

Subject Name: HOME SCIENCE
Creation Date: 2019-07-01 18:50:35
Duration: 150

Total Marks: 640

Display Marks: Yes

Share Answer Key With Delivery Yes

Engine:

Actual Answer Key: Yes

HOME SCIEMCE

Group Number : 1

Group Id : 55317214
Group Maximum Duration : 0

Group Minimum Duration : 150
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 640

FPart & : HOME 5CIENCE

Section Id : 55317222
Section Number : 1
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 160
Number of Questions to be attempted: 160
Section Marks: 640
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 55317244
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5531722275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The total food grain production in India during 2017-18 was
assessed to be (in million tonnes):

1. 250
2. 285
3. 300

4. 270
Options :
55317230411
S531729042. 2
5531729043 3
5531729044 4

Question Number : 2 Question Id : 5531722276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The only commercialized transgenic crop in India is

1. Bt Cotton
2. Bt Brinjal
3. Bt Soyabean

4. Bt Rice
Options :
5531729045 1
S531729046. 2
5531729047 3
55317290458 4

Question Number : 3 Question Id : 5531722277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
State Agricultural Universities come under which of the following
Institutes?

1. IARI

2. NABARD
3. ICAR

4. ICMR

Options :

=551728049.1
=5317280500 2
=551728051. 3
S5S17z28052. 4

Question Number : 4 Question Id : 5531722278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



With a decrease in demand of a commaodity, the price of that
item will

1. Escalate
2. Decrease
3. Remain the same

4. Show volatility
Options :
55317290531
5531729054 2
5531729055, 3
SL31729056. 4

Question Number : 5 Question Id : 5531722279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In perfect positive correlation, the coefficient of correlation will be

T.=1
2%
3.-1t0+1

4.0
Options :
55317230571
5531729058, 2
5531729059 =3
S531729080. 4

Question Number : 6 Question Id : 5531722280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a function of proteins?
1. Enzyme function

2. Hormonal regulation
3. Transport of hydrophobic molecules

4. Lubrication of organs
Options :
5531729061, 1
55317290682, 2
5531729063 3
5531729064, 4

Question Number : 7 Question Id : 5531722281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Photosynthesis occurs in which organelle of the cell?
1. Amyloplasts
2. Endoplasmic reticulum
3. Chloroplasts

4. Vacuoles
Options :
LEZ1729065 1
SEZ1729066 2
SEZ1729067 2
5521729068, 4

Question Number : 8 Question Id : 5531722282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following nucleotides is specific to RNA?

1. ATP
2. TIP
3. GTP

4. UTP
Options :
5531723069
S5317Z23070.
5531723071
S5317Z23072.

e LI

Question Number : 9 Question Id : 5531722283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Scientific name of papaya is

1. Psidium guajava
2. Malus domestica
3. Musa acuminata
4. Carica papaya

Options :

55217290751
5531729074, 2
S531729075. 3
S531729076. 4

Question Number : 10 Question Id : 5531722284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Organism present in root nodules is

1. Agrobacterium
2. Aspergillus
3. Rhizobium
4. Streptococcus

Options :

5531729077, 1

5531729078, 2

S5317230739. 3
S531723080. 4

Question Number : 11 Question Id : 5531722285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following vitamins is also called a hormone?

1. Vitamin A
2. Vitamin B
3. Vitamin C

4. Vitamin D
Options :
553172305811
S5E1729082 2
5531729083 3
S531729034. 4

Question Number : 12 Question Id : 5531722286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following are not components of lipoproteins?

1. Triglycerides
2. Phospholipids
3. Proteins

4. Sucrose

Options :

55317230851
S531729086. 2
S5317Z29087. 3
S531729088. 4

Question Number : 13 Question Id : 5531722287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Black soils are found in
1. Madhya Pradesh
2. Karnataka
3. Maharashtra
4. Meghalaya

Options :

55317230839 1
S531729030. 2
5531729031, =3
S531729032. 4

Question Number : 14 Question Id : 5531722288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Oryza Sativa 2n = 24 is applicable to which crop?

1. Wheat
2. Maize
3. Sorghum

4. Rice
Options :
5531723093 1
5521729094 2
5531729035 3
5531729036, 4

Question Number : 15 Question Id : 5531722289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The upper %“’ portion of sugarcane is used for sowing due to

1. High phos and potassium content
2. High nitrogenous substance and glucose content
3. High zinc and copper content

4. Low nitrogenous substances
Options :
5531729097, 1
5531729098, 2
5531729099 3
5531729100, 4

Question Number : 16 Question Id : 5531722290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following is NOT a genetic transformation method?

1. Gene Gun
2. Agrobacterium mediated transfer
3. Protoplast fusion
4. Micropropagation

Options :

5531729101, 1

5531729102, 2

=531723102 =
=531723104 4

Question Number : 17 Question Id : 5531722291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Genes are located in thread like bodies called

1. Chromosomes

2. Ribosomes

3. Nucleolus

4. Endoplasmic Reticulum
Options :
E531729105. 1
EEI1729106. 2

=531723107. =3
=531723108. 4

Question Number : 18 Question Id : 5531722292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The chief constituent of the sandy fraction of soil is

1. Silica
2. Quartz
3. Apatite

4. Calcite
Options :
55217291091
553172911002
5531729111 =
5531729112 4

Question Number : 19 Question Id : 5531722293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following enzymatic pathways is a biosynthetic
pathway?

1. Glycolysis
2. HMP shunt
3. Gluconeogenesis

4. p-oxidation
Options :
553172911z 1
5531729114 2
5531729115 2
5531729116, 4

Question Number : 20 Question Id : 5531722294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In normal distribution

1. Mean, Mode and Median are different
2. Mean, Mode and Median are same
3. Mean = 3 Median — 2 Mode

4. Mode = 3 Median — 2 Mean
Options :
E531729117. 1
SEZ1729118 2
SEZ1729119 2
521729120 4

Question Number : 21 Question Id : 5531722295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The consolidating statute related to Food safety Regulation in
India established in 2006 is

1. AGMARK
2. 15l
3. FSSAI

4. CODEX
Options :
55317291211
S5317VZ29122 2
S531729123 3
5531729124 4

Question Number : 22 Question Id : 5531722296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The most poisonous pollutant of the environment is

1. Sulfur dioxide
2. Arsenic
3. Cyanide
4. Chromium

Options :

5531729125, 1

5531729126, 2

531723127 3
=5317239128. 4

Question Number : 23 Question Id : 5531722297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which mineral deficiency is responsible for one of the major
public health problems in India?

1. Magnesium
2. Calcium
3. lIron

4. Sodium
Options :
553172912391
5531729130 2
5531729131 =
5531729132 4

Question Number : 24 Question Id : 5531722298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a major function of carbohydrates?

1. Energy yielding
2. Component of antibodies
3. Component of the cell membrane

4. Antioxidant
Options :
EE217291322 1
EE21729134 2
EE21729135 2
EE21729136 4

Question Number : 25 Question Id : 5531722299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The pair of hormones that directly trigger the pathways of
glycogenesis and glycogenolysis to maintain optimum blood
glucose levels are

1. FSH and LH
2. Progesterone and Estrogen
3. Growth hormone and somatotropin
4. Insulin and glucagon
Options :
5531729137, 1
5531729138. 2

531723159 =
=531723140 4

Question Number : 26 Question Id : 5531722300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following nutrient groups does not generally
function in regulation of metabolism?

1. Protein, vitamins, minerals
2. Water, vitamins, proteins
3. Lipids and carbohydrates
4. Vitamins, lipids and proteins
Options :
55317291411
SL31729142. 2
5531729142 2
5531729144 4

Question Number : 27 Question Id : 5531722301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the medical problems can be easily prevented by
nutrition?

1. Diabetes
2. Cancer

3. Scurvy

4. Hemophilia

Options :

55317239145 1
5531729146, 2
5531729147 3
S531725148. 4

Question Number : 28 Question Id : 5531722302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following limits is NOT used for RDA?

1. Gram (g)
2. Milligram (mg)
3. Microgram (ug)
4. Ounce (0z)

Options :

5531729149 1

5531729150, 2

=531723151. =
S5317239152 4

Question Number : 29 Question Id : 5531722303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Following nutrients are as co-enzyme in energy vyielding
processes in the body

1. Lipids
2. Carbohydrates
3. Vitamins

4. Proteins
Options :
EEE1729153 1
EE21729154 2
EE21729155 =2
EE21729156 4

Question Number : 30 Question Id : 5531722304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The reliable method that measures nutritional status of a patient
is

1. Anthropometric tests

2. Biomedical test

3. Clinical signs and symptoms

4. Dietary Assessment
Options :
5531729157, 1
5531729158, 2
5531729159 3
5531729160, 4

Question Number : 31 Question Id : 5531722305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



What is the total energy value of a chapatti containing 2g protein,
4q of fat and 32g of carbohydrates?

1. 152 Kcal
2. 172 Kcal
3. 162 Kcal
4. 322 Kcal

Options :

55317291611
S531729162. 2
S531729163. 3
5531729164 4

Question Number : 32 Question Id : 5531722306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The sugar most implicated in tooth decay is

1. Lactose
2. Sorbitol
3. Sucrose

4. Fructose
Options :
E531729165. 1
SEZ1729166. 2
SEZ1729167 . 2
SEZ1729168 4

Question Number : 33 Question Id : 5531722307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Peristaltic contractions qualify as example of

1. Mechanical activity
2. Chemical activity
3. Secretory activity
4. Absorptive activity

Options :

5531729169 1
S531729170. 2
55317291713
5531729172 4

Question Number : 34 Question Id : 5531722308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Selective permeability is a function of

1. Nucleus
2. Mitochondrion
3. Cytoplasm
4. Cell membrane

Options :

EE317239173. 1

SE317239174. 2

=531723175 =
=531723176. 4

Question Number : 35 Question Id : 5531722309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Most of the blood in a person engaged is strenuous physiology
aclivity is pumped to the
1. Skeletal muscles
2. Smooth muscles
3. Brain

4. Intestine

Options :

55317291771
S531729178. 2
5531729179 3
S531729180. 4

Question Number : 36 Question Id : 5531722310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The least amount of water in the human body is found in

1. Muscle
2. Bones
3. Tendons

4. Teeth
Options :
553172915811
S531729182. 2
5531729183 3
5531729154 4

Question Number : 37 Question Id : 5531722311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Metabolic water produced in an average person is

1. 1000 — 1500 ml/day
2. 500 — 1000 mi/day
3. 250 — 400 mi/day
4. 100 - 200 ml/day

Options :

5531729185, 1

55317291886 2

S531723187. 3
=5317239188. 4

Question Number : 38 Question Id : 5531722312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A maijor difference between SFA's and PUFA's is

1. PUFA's lack double bonds between their carbon atoms
2. PUFA’s carry all the hydrogen they have room for

3. SFA’s cannot accommodate any more hydrogen atoms on
their chains

4. SFA’s predominate in plant oils
Options :
55217291891
5521729190 2
5521729191 3
5521729192 4

Question Number : 39 Question Id : 5531722313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Most of the enzymatic hydrolysis of this triglyceride takes places
in the

1. Mouth
2. Stomach
3. Small intestine

4. Large intestine
Options :
553172919z 1
5531729194 2
5531729195 2
SL31729196. 4

Question Number : 40 Question Id : 5531722314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Pasteurization is the process of heating milk
1. Above 121°C
2. Above boiling point
3. Below boiling of point

4. Above 150°C
Options :
55317291971
5531729138 2
5531729139 3
S531729200. 4

Question Number : 41 Question Id : 5531722315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Cold sterilization refers to processing of food by

1. Refrigeration

2. Reduction

3. Dehydration

4. Dehumidification
Options :
SE31723201. 1
EE31729202. 2

531723202 3
531723204 4

Question Number : 42 Question Id : 5531722316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Process of preserving meat by sewing in a covered leatherware
jug is called
1. Burial
2. Curing
3. Jugging

4. Blanching

Options :
55317292051

531723206, 2
531723207 3
531723208 4

Question Number : 43 Question Id : 5531722317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Principle protein of rice is
1. Zein
2. Oryzenin
3. Glutamine
4. Lysine

Options :

55317232091
S531729210. 2
55317292113
S531729212 4

Question Number : 44 Question Id : 5531722318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
lodized salt contains iodine in the form of

1. Iz
2. KIO:
3. Kl

4. Na*
Options :
55317232131
5521729214 2
5531729215 3
5531729216 4

Question Number : 45 Question Id : 5531722319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Frozen storage is generally operated at a temperature of

1. 0°C

2. -18°C

3. -50°C

4. -60°C
Options :
55317232171
S531729Z218. 2
5531729219 3
S531729220. 4

Question Number : 46 Question Id : 5531722320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Vitamin C, Vitamin E, BHA, BHT and sulfites are all
1. Flavour enhancer
2. Anti-microbials
3. Anti-oxidants

4. Emulsifiers
Options :
LEZ1729221.1
SEZ1729z222 2
SEZ1729223 2
SEZ1729224 4

Question Number : 47 Question Id : 5531722321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When of the following operation reduces the dietary fibre
contents in cancer?

1. Drying
2. Retrogradation
3. Grinding

4. Milling
Options :

5531723225 1
S531VZ29226. 2
S531VZ29227. 3
S531729228. 4

Question Number : 48 Question Id : 5531722322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The standard recipe cards (SRCS) can be used for

1. Determine portion and cost content
2. Indicate portion size
3. Determine dish and menu profitability

4. All of the above

Options :
SL31729229. 1

531723230 2
=531723251. =
531723252 4

Question Number : 49 Question Id : 5531722323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



In a child suffering for marasmus which of the following clinical
manifestation is NOT observed?

1. Watery diarrhoea with acid stools
2. Subnormal temperature
3. Visible peristalsis

4. Generalized odema
Options :
5531729233, 1
5531729234, 2
5531729235, 3
5531729236, 4

Question Number : 50 Question Id : 5531722324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Respiratory Quotient (R.Q) falls in all the following conditions
except

1. Acidosis
2. Febrile condition
3. Diabetes mellitus

4. Starvation
Options :
553172325371
S531729238. 2
5531729239 3
S531729240. 4

Question Number : 51 Question Id : 5531722325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The stage when the problem solving begins & there is a clear
evidence of intention is called
1. Stage of reflexes
2. Stage of primary circular reaction
3. Stage of secundary circular reaction

4. Stage of coordination of secondary reaction

Options :

55317292411
S531729z242 2
5531729243 3
5531729244 4

Question Number : 52 Question Id : 5531722326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Technically abortion is defined at the termination of pregnancy
with duration of
1. Less than 20 weeks

2. More than 20 weeks
3. More than 3 months
4. More than & months
Options :
E531729245 1
ECI1729246 2

S531729247. 2
5521729248 4

Question Number : 53 Question Id : 5531722327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The ability of young children to use both their hands with equal
importance is called

1. Handedness
2. Equal hand
3. Balanced hand

4. Ambidextrous

Options :

5531723249 1
S531729250. 2
5531729251 3
S531729252. 4

Question Number : 54 Question Id : 5531722328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A progressive series of orderly coherent changes leading
towards the goal of maturity

1. Growth

2. Development

3. Leaming

4. Developmental task
Options :
5531729253 1
531729254 2

5317239255 3
531723256 4

Question Number : 55 Question Id : 5531722329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Any environmental agent that causes damage during the
prenatal period is called
1. Multigen

2. Negative environment
3. Mal environment

4. Teratogen
Options :
SL31729257. 1
SL31729258. 2
5531729259, 3
SL31729260. 4

Question Number : 56 Question Id : 5531722330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For preschool education Gandhiji laid great stress on

1. 3A’s
2. 3R’s
3. 3H’s

4. 3P’s
Options :
S5317239261.
S531VZ3262.
S531VZ23263.
55317239264

I VN

Question Number : 57 Question Id : 5531722331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The child training method that fosters good family relationships is
called
1. Authoritarian
2. Authoritative
3. Permissive

4. None of the above

Options :

5531723265 1
S531VZ29266. 2
S531VZ9267. 3
S5317V29268. 4

Question Number : 58 Question Id : 5531722332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A guided activity is a planned group activity, an introduction to

1. Individual work
2. Formal work
3. Informal work
4. Group work

Options :

5531729269, 1

5531729270, 2

5317232713
531723272 4

Question Number : 59 Question Id : 5531722333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Hindu Marriage Act was enacted in the year

1. 1954
2. 1955
3. 1961
4. 1962
Options :
SL3172927c 1
SEZ1729274 2

531723275 3
531723276 4

Question Number : 60 Question Id : 5531722334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A test that records the brain's electrical activity using electrodes
placed on the surface of the head is called

1. MRI
2. EEG
3. ECG

4. X-Ray
Options :
55317232771
S531VZ2927E. 2
S5317V29279. 3
S531729280. 4

Question Number : 61 Question Id : 5531722335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The National Institute of Rehabilitation Training and Research is
situated at

1. New Delhi
2. Mumbai
3. Cuttack

4. Hyderabad
Options :
SL31729251. 1
SL31729282. 2
5531729283, 3
SL31729284. 4

Question Number : 62 Question Id : 5531722336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Mational Day for the intellectual disabled is observed on

1. 8" March

2. 8t June

3. 8" September

4. 8" December
Options :
CEZ1729285. 1
EE31729286. 2

531723287 3
S531723288. 4

Question Number : 63 Question Id : 5531722337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Much of the heightened emotionality characteristic of early
childhood age is

1. Psychological
2. Physiological
3. Emotional

4. Social
Options :
553172928591

S531723230 2
=531723231. =5
531729232 4

Question Number : 64 Question Id : 5531722338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



For dividing the total lifespan in stages, the criterion used is

1. Growth
2. Development
3. Mental age
4. Chronological age

Options :

5531729293, 1

5531729294, 2

531723235 3
531723236 4

Question Number : 65 Question Id : 5531722339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
High blood pressure and albumin in the urine are indicators of

1. Anaemia

2. Toxemia

3. Ectopic pregnancy
4. Placenta previa

Options :

553172392971
S5E1729298. 2
55317292939 3
S531729300. 4

Question Number : 66 Question Id : 5531722340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Cleaning the system of pent up emotional energy is called

1. Heightened emotionality
2. Emotional catharsis
3. Emotional maturity

4. Emotional balance

Options :

55317233011
5531729302 2
5531729303 3
5531729304, 4

Question Number : 67 Question Id : 5531722341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A challenged child needs
1. Sympathy
2. Play
3. Gift
4. Support

Options :

55317233051
S531729306. 2
S531729307. 3
S531729308. 4

Question Number : 68 Question Id : 5531722342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cerebral Palsy is a permanent physical condition that mainly
affects

1. Speech
2. Hearing
3. Movement

4. All of the above
Options :
EE31729309. 1
SEZ1729210. 2
SEZ1729211. 2
SEZ17292312 4

Question Number : 69 Question Id : 5531722343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The interruption in the rhythm and timing of speech is

1. Resonance process disorder
2. Fluency disorder
3. Respiratory process disorder

4. Voice disorder
Options :
EEZ1729212. 1
SEZ17292314 2
SEZ1729215 2
SEZ1729216 4

Question Number : 70 Question Id : 5531722344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The use of high fat or ketogenic diet improves the condition
when taken in early childhood followed by normal diet in case of
1. Jacksonian seizure

2. Minor motor seizure
3. Akinetic seizure

4. Simple petit mal seizure
Options :
5531729317, 1
5531729318, 2
5531729319, 3
5531729320, 4

Question Number : 71 Question Id : 5531722345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is sometimes called the launching period

1. Child bearing family
2. Family with preschoolers
3. Family with teenagers
4. Contracting family
Options :
5531729321, 1
5531729322, 2

531729322 3
531729324 4

Question Number : 72 Question Id : 5531722346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Dowry Prohibition Act came into force in the year

1. 1954
2. 1955
3. 1956
4. 1961

Options :

55317293251
S531729326. 2
S531729327. 3
5531729328 4

Question Number : 73 Question Id : 5531722347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A condition in which the neonates’ brain receives an inadequate
amount of oxygen during labour & birth is termed as
1. Anoxia

2. Apnea
3. Hyaline membrane disease

4. SIDS
Options :
S531728329. 1
S5317283320. 2
5531725321, 3
S531728332. 4

Question Number : 74 Question Id : 5531722348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Rh problems are rare in case of children who are

1. First born
2. Second born
3. Twins

4. Fifth born
Options :
55317293533 1
5531729334 2
5531729335 3
5531729336 4

Question Number : 75 Question Id : 5531722349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which of the families, marriage between blood relations is not
prohibited

1. Patriarchal family

2. Syndyasmian family
3. Punalaun family

4. Consanguine family

Options :

553172393571
5531729338 2
5531729339 3
5531729340 4

Question Number : 76 Question Id : 5531722350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



‘Education of a Child’ is an example of

1. Habitual decision
2. Economic decision
3. Group decision
4. Individual decision

Options :

SE317239341. 1

SE317239342. 2

=5317239342 =5
S5317239344 4

Question Number : 77 Question Id : 5531722351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Prime activity in the management process refers to

1. Controlling
2. Organizing
3. Planning

4. Evaluation
Options :
EEZ1729z24501
5531729346, 2
52172932347 2
SEZ17292348 4

Question Number : 78 Question Id : 5531722352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Pictures should be hung

1. 10" above the eye level

2. 10" below the eye level

3. Anywhere to fill up the empty space
4. At the eye level

Options :

55317293439 1
5531729350 2
5531729351 =
5531729352 4

Question Number : 79 Question Id : 5531722353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



One of the international organizations for the promotion and
protection of consumer is

1. UNESCO
2. 10CU
3. WHO

4. FAO
Options :
5531729353 1
5531729354 2
5317239355 2
5531729356, 4

Question Number : 80 Question Id : 5531722354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following investments present the highest risk for
consumers?

1. Current Account
2. Life Insurance Policy
3. Mutual Funds

4. Provident Fund
Options :
55317293571
5531729358 2
55317293592
SL31729360. 4

Question Number : 81 Question Id : 5531722355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which among the following is not an example of sustainable
agriculture

1. Carbon Sinks
2. Group Diversification
3. Post-Harvest Management

4. Phyto — sanitary measures
Options :
5531729361, 1
5531729362, 2
5531729363, 3
5531729364 4

Question Number : 82 Question Id : 5531722356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The Consumer Protection Act (COPRA) was enacted in
1. 1986
2. 1987
3. 1988

4. 1989
Options :
5531729365 1
S531729366. 2
S5317V29367. 3
S531729368. 4

Question Number : 83 Question Id : 5531722357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Marketing is a process which aims at

1. Production
2. Profit making
3.4P's

4.45's
Options :
5531729369 1
5531729370 2
55317293713
5531729372 4

Question Number : 84 Question Id : 5531722358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Means to an end value is referred to as

1. Intrinsic

2. Instrumental Value
3. Inherent Value

4. Normative Value

Options :

553172393731
5531729374 2
5531729375 3
5531729376, 4

Question Number : 85 Question Id : 5531722359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A design inspired from the nature and modified by the artists is
1. Conventional
2. Biomorphic
3. Naturalistic

4. Abstract
Options :
553172393771
5531729378 2
5531729379 3
55317293804

Question Number : 86 Question Id : 5531722360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements.

Statement  (A) : Goals are slatic for a family during its life cycle
slages

Statement (B): To realize goals, families need to change them
as per dynamic situations
Select the correct option:

1. Only (A} is correct and (B) is incorrect
2. Only (B) is correct and (A) is incorrect
3. Both (A) and (B) are correct
4. Both {A) and (B) are incorrect
Options :
553172928511
SL31729382. 2
5531729382, 2
5531729384 4

Question Number : 87 Question Id : 5531722361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
John Dewey describes this phase as the dramatic rehearsal

1. Defining the problem
2. ldentifying alternatives
3. Thinking through alternatives
4. Selecting an alternative
Options :
5531729385 1
5531729386, 2

S531729387. 2
55321729386, 4

Question Number : 88 Question Id : 5531722362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1
Annual statement of assets and liabilities made at the end
of the yearis

1. Income expenditure account
2. Ledger
3. Balance sheet

4. Debit Account
Options :
EEZ1729z289. 1
SEZ1729390 2
SEZ1729391. 2
SEZ1729392 4

Question Number : 89 Question Id : 5531722363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When the kitchen is small, its shape is usually

1. Broken 'U’ shape
2. Single wall / galley kitchen
3. L' shape
4. Corridor kitchen / two wall
Options :
5531729393, 1
5531729394, 2

5317239335 3
5317239336 4

Question Number : 90 Question Id : 5531722364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following are tools or techniques of controlling?

1. Financial Statements
2. Promising
3. Division of Work

4. Master Plans

Options :

55317293971
5531729338, 2
55317293939 3
5531729400, 4

Question Number : 91 Question Id : 5531722365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The theory of design is composed of

1. A mixture of historical theory
2. Colour, line and space
3. The principles and element of design
4. Promotion and harmony

Options :

5531729401, 1

5531729402, 2

S531723402 =
=531723404 4

Question Number : 92 Question Id : 5531722366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following statement is true

1. Management is performance of the work
2. Good managers are bomn, not made

3. Management is not an end in itself

4. Family goals are dictated by management
Options :

5531729405, 1

531729406, 2

S531723407. 3
S531723408. 4

Question Number : 93 Question Id : 5531722367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A plan that gives a pictorial view of the proposed house is called

a
1. Floor plan
2. Site plan
3. Elevation plan
4. Perspective plan
Options :

53172594091
=531723410 2
=531723411. =
5317239412 4

Question Number : 94 Question Id : 5531722368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Cool colours are good for those houses which face
1. East
2. West
3. North - South

4. North - East
Options :
5531729415 1
5531729414 2
5531729415 =
5531729416 4

Question Number : 95 Question Id : 5531722369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Cement obtained from industrial waste is known as

1. Roman cement
2. ltalian cement
3. Portland cement

4. Gray cement
Options :
5531729417 1
5531729418 2
5531729419, 2
5531729420 4

Question Number : 96 Question Id : 5531722370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Proper placement of rooms in relation to the sun, wind, rain,
topography etc. is
1. Aspect
2. Orientation
3. Prospect

4. Elevation
Options :
EEZ1729421. 1
EER17E9422 2
EE21729423 2
EE21729424 4

Question Number : 97 Question Id : 5531722371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



An important criterion to determine the height of kitchen work
center is

1. Upward reach
2. Vertical reach
3. Knee Height

4. Elbow height
Options :
S531723425. 1
SEI172594268 2
S531728427 3
SE31725428 4

Question Number : 98 Question Id : 5531722372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Standard time required for doing a task is called

1. Time plan

2. Time norm

3. Work schedule

4. Time pattern
Options :
5531729429 1
5217294320 2

=531723451. =5
5317239452 4

Question Number : 99 Question Id : 5531722373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Study of charge in output of work over a period of time is referred
to as

1. Process of Work

2. Time pattern

3. Work curve

4. Time and activity plan

Options :

55317294533 1
5531729434 2
5531729435 =3
5531729436 4

Question Number : 100 Question Id : 5531722374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following is a structural member in an interior
setting?

1. Lighting Fixtures
2. Curtains
3. Kitchen Counters

4. Linoleumn Flooring
Options :
5531729437, 1
5531729438, 2
5531729439 3
5531729440, 4

Question Number : 101 Question Id : 5531722375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An engineering type of clothing construction based on a set of
body measurements is called

1. Flat pattern

2. Drafting

3. Draping

4. Designing
Options :
5531729441, 1
5531729442 2

S5317239442 =
S5317239444 4

Question Number : 102 Question Id : 5531722376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following can be spun, woven and made into a
fabric?

1. Rayon
2. Nylon i
3. Cotton

4. Wool
Options :
5531729445 1
5531729446, 2
5531729447 3
55317294458 4

Question Number : 103 Question Id : 5531722377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Spinning quality is also described as
1. Tenacity
2. Adhesiveness
3. Cohesiveness

4. Flexibility
Options :
5531729449 1
5531729450 2
5531729451 =
5531729452 4

Question Number : 104 Question Id : 5531722378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tensile strength is measured in

1. Pounds per sq. inch
2. Pounds per weight
3. Pounds per inch

4. Pounds per foot

Options :

55317239453 1
S531723454 =2
5531729455 3
5531729456, 4

Question Number : 105 Question Id : 5531722379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Cloaks and mantles were the first

1. Ready to wear men’'s garments
2. Ready to wear women's garments
3. Ready to wear children’s garments

4. Ready to wear infant garments

Options :
5531729457 1

S531723458. 2
=5317239459 3
S531723460 4

Question Number : 106 Question Id : 5531722380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Vertical lines used in designing garments offer the following
advantage
1. Make a person look less short and fat

2. Give a feeling of repose, solidity and tranquility
3. Suggest sophistication, refinement and arouse interest

4. Create a circular feeling
Options :
5531729461, 1
5531729462, 2
5531729463 3
5531729464 4

Question Number : 107 Question Id : 5531722381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT a man-made synthetic fibre?

1. Nylon
2. Polyester
3. Acrylic

4. Mohair
Options :
5531729465 1
S531729466. 2
5531729467 3
5531729468 4

Question Number : 108 Question Id : 5531722382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Alpaca fibre is obtained from

1. Angora goat

2. Camel

3. Cashmere goat
4. Vicuna

Options :

5531729469 1
5531729470 2
55317294713
5531729472 4

Question Number : 109 Question Id : 5531722383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A chemical process where caustic soda is applied to cellulose
fibres like cotton under certain conditions is called:

1. Calendaring

2. Tentering

3. Mercerization

4. Scouring
Options :
55317294732 1
5531729474 2

S531723475 3
531723476 4

Question Number : 110 Question Id : 5531722384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following reagents are suitable for removal of
animal stains?

1. Borax solution
2. Hydrogen peroxide
3. Alcohol

4. Oxalic acid
Options :
EE21729477. 1
EE21729478 2
EE21729479 2
EE21729480 4

Question Number : 111 Question Id : 5531722385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Fashion adoption theory in which the top social strata first adopts

a style which trickles down to lower strata is called
1. Bottom-up theory
2. Social Class theory
3. Trickle-down theory

4. Adoption
Options :
55317294511
5531729482 2
5531729483 3
5531729454 4

Question Number : 112 Question Id : 5531722386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Broken fashion cycles fall into which of the following categories?
1. Catastrophic
2. Seasonal
3. Revolutionary

4. All of the above
Options :
EEZ1729485 1
SEZ1729486 2
SEZ1729487 2
SEZ1729488 4

Question Number : 113 Question Id : 5531722387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Purl stitch is also known as

1. Reverse stitch
2. Miss stitch

3. Tuck stitch

4. Flat stitch

Options :

55317294539 1
5531729490 2
5531729431 =3
5531729432 4

Question Number : 114 Question Id : 5531722388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The outline of the whole garment is called

1. Silhouette
2. Dress
3. Appearance

4. Accessories

Options :

5531729493 1
5531729434 2
5531729435 3
5531729436, 4

Question Number : 115 Question Id : 5531722389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Symmetrical balance is also known as

1. Informal
2. Vertical
3. Formal
4. Diagonal

Options :

5531729497, 1

5531729498, 2

=5317239499 3
S531723500 4

Question Number : 116 Question Id : 5531722390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Acid dyes have good affinity for

1. Cotton
2. Polyester
3. Rayon

4. Wool
Options :
55317235011
55321729502 2
5531729503 3
5531729504 4

Question Number : 117 Question Id : 5531722391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A type of resist printing is
1. Batik printing
2. Block printing
3. Discharge printing
4. Jet printing

Options :
5531729505 1

S531723506. 2
S531723507. 3
=531723508. 4

Question Number : 118 Question Id : 5531722392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which dyes are generally known as cold dyes?

1. Acid dyes
2. Basic dyes
3. Direct dyes
4. Naphthol dyes

Options :

5531729509, 1

5531729510, 2

=531723511. =
S5317239512 4

Question Number : 119 Question Id : 5531722393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Harness is a part of

1. Knitting machine
2. Sewing machine
3. Loom

4. Threader

Options :

55317235151
S531723514. =2
5531729515 =
5531729516 4

Question Number : 120 Question Id : 5531722394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Patola is from

1. Punjab
2. Gujarat
3. Bengal

4. Benaras

Options :
55317295171

=531723518. 2
=531723519. =
S5317239520. 4

Question Number : 121 Question Id : 5531722395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Decca muslin with women patterns is known as
1. Maheshwari
2. Jamdani
3. Chanderi

4. Sanganeri
Options :
EEZ1729521.1
SEZ1729522 2
SEZ1729523 2
5521729524 4

Question Number : 122 Question Id : 5531722396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The main theme of Madhubani is

1. Ramayana

2. Krishna lila

3. Gita upadesha
4. Animals

Options :

5531723525 1
5531729526 2
5531729527 3
5531729528 4

Question Number : 123 Question Id : 5531722397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Children's clothing should be patterned for

1. Growth, ease and freedom
2. Withstanding several washes
3. Withstanding wear and tear
4. All of the above

Options :

55317295291
5531729530 2
5531729531 =
5531729532 4

Question Number : 124 Question Id : 5531722398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following seams adds strength to the joining portion
and stops fraying?

1. Cup seam
2. French seam
3. Lap seam

4. Plain seam
Options :
55317295551
5531729524 2
5531729535 2
EL31729506. 4

Question Number : 125 Question Id : 5531722399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Balloon pants are also known as

1. Bloomers
2. Cowl pants
3. Harem pants

4. Palazzo pants
Options :
EE31729537. 1
SEZ1729538 2
SEZ1729539 2
521729540 4

Question Number : 126 Question Id : 5531722400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Knowledge transfer for development programmes for
communities is one of the major objectives of following branch

1. Food & Nutrition

2. Human Development

3. Family Resource Management

4. Home Science Extension Education

Options :

=551728541.1
S5Slyzesdz 2
5551728543 3
=551728544 4

Question Number : 127 Question Id : 5531722401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



What is ‘learning by doing' and ‘seeing is believing’?
1. Philosophy of extension education
2. Objection of extension education
3. Scope of extension education

4. Objective of home science education
Options :
521729545 1
521729546 2
521729547 3
521729548 4

Question Number : 128 Question Id : 5531722402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The author of the book ‘Education and Communication’ for
development is

1. O. P. Dharma & O. P. Bhatnagar
2. A. S. Sandhu
3. O. A. Hall

4. A Chandra
Options :
5531729549 1
5531729550 2
5531729551 =
5531729552 4

Question Number : 129 Question Id : 5531722403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A process of initiating conscious and purposeful action is called

1. Participation
2. Motivation
3. Decision making

4. Feedback
Options :
5531723553 1
5531729554 2
5531729555 3
5531729556 4

Question Number : 130 Question Id : 5531722404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



ITK stands for
1. India Telecommunication Knowledge
2. Indigenous Technology Knowledge
3. Integrated Technology Knowledge

4. Integrated Transfer of Knowledge
Options :
SEZ21729557.1
SEZ1729558. 2
5521729559 3
521729560, 4

Question Number : 131 Question Id : 5531722405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The ultimate indicator of development according to extension
education is
1. Development of individual

2. Development of natural resources
3. Rural development

4. Sustainable development
Options :
5531729561, 1
5531729562, 2
5531729563, 3
5531729564, 4

Question Number : 132 Question Id : 5531722406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Implementing agency of IRDP is

1. DRDA

2. Panchayat
3. State Gowt.
4. BDO

Options :
5531729565 1

5317239566, 2
531723567 3
5317239568 4

Question Number : 133 Question Id : 5531722407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the areas of Home Science enables students to
develop an understanding of the teaching - learmning process?

1. Human Development
2. Family Resource Management
3. Home Science Extension Education

4. Food & Nufrition
Options :
5531723569 1
S531729570. 2
55317295713
5531729572 4

Question Number : 134 Question Id : 5531722408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one is NOT a component of behavior?

1. Norm

2. Knowledge
3. Skill

4. Attitude

Options :

55317235731
S5E1729574 2
5531729575 3
5531729576, 4

Question Number : 135 Question Id : 5531722409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which is NOT a stage of adoption process?

1. Awareness
2. Trial

3. Interest

4. Education

Options :
EL31729577. 1

S531723578. 2
S5317239579. 3
=531723580. 4

Question Number : 136 Question Id : 5531722410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which is one method of leader identification?
1. Flag method
2. Sociometry
3. Trickle down

4. Demonstration

Options :

553172395811
5531729582 2
5531729583 3
5531729584 4

Question Number : 137 Question Id : 5531722411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Bell - shaped normal curve determine which perimeter of
adopters?

1. Adopter's category
2. Diffusion process
3. Over adoption

4. Discontinuance
Options :
EE31729585. 1
521729586 2
SEZ1729587. 2
SEZ1729588 4

Question Number : 138 Question Id : 5531722412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The tendency of man to consider own culture is the best, is
called as

1. Xenocentrism
2. Ethnocentrism
3. Ethos

4. Cultural log

Options :

=551728589.1
=5E17z2e5800 2
=551728581. 3
=5E1728582. 4

Question Number : 139 Question Id : 5531722413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The decision to fully use an innovation is called
1. Rejection
2. Acceptance
3. Diffusion

4. Adoption
Options :
5531723593 1
5531729534 2
5531729535 =3
5531729536, 4

Question Number : 140 Question Id : 5531722414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which is the first step of extension education process by
‘Leagans’'?

1. Identification of needs
2. Setling objectives
3. Situation analysis

4. Teaching
Options :
EEZ1729597. 1
EE21729598 2
EE21729599 2
EE21729600 4

Question Number : 141 Question Id : 5531722415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following programme is popularly known as a
‘packaged programme'?

1. Intensive Agriculture Development Programme
2. Intensive Agricultural Distinct Programme
3. Intensive Agriculture Area Programme

4. Intensive Rural Development Programme

Options :
55317296011

531723602 2
S531723603. 3
S531723604 4

Question Number : 142 Question Id : 5531722416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which programme is exclusively meant for self-employment of
youth in rural areas?

1. RLEGP
2. NREGA
3. TRYSEM

4. EAS
Options :
SE31723605. 1
SEI17Z23606. 2
SE31723607. 2
SEZ1723608. 4

Question Number : 143 Question Id : 5531722417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An event in PERT diagram is represented by

1. Node

2. Dotted line

3. Circle

4. Bold line
Options :
EE31729609. 1
EEZ1729610. 2

531723611 =5
531723612 4

Question Number : 144 Question Id : 5531722418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In which types of interviews only few questions are pre-
determined?

1. Focused interview
2. Semi - structured interview
3. Structured interview

4. In - depth interview
Options :
5531729611
SL31729514. 2
5531729515 2
SL31729616. 4

Question Number : 145 Question Id : 5531722419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Swarna Jayanti Gram Swarojgar Yojana was a merger of
1. IRDP, DWACRA, TRYSEM, SITRA, JRY and MSW
2. ICDS, DWACRA and TRYSEM
3. DWACRA and TRYSEM

4. IRDP, DWACRA and TRYSEM
Options :
55317296171
S5317V29618. 2
5531729619 3
S5317Z29520. 4

Question Number : 146 Question Id : 5531722420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Beneficiaries of ICDS scheme are

1. Children below & years of age
2. Expectant and nursing workers
3. Women in reproductive age (15 — 45 years)

4. All of the above
Options :
55317296211
SLI1729522. 2
SLI31729522. 2
SL31729624. 4

Question Number : 147 Question Id : 5531722421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The target group of ‘National Literacy Mission’ is

1. <15 years

2. 35— 44 years

3. 15 -35 years

4. 15— 65 years
Options :
5531729625, 1
CLI1729626. 2

531723627 3
S531723628. 4

Question Number : 148 Question Id : 5531722422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The type of learning in which experience are transferred into
knowledge, is known as

1. Experimental learning
2. Topical learning
3. Continuous learning

4. Experiential learning
Options :
5531729629, 1
5531729630, 2
5531729631, 3
5531729632 4

Question Number : 149 Question Id : 5531722423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In a group discussion, the size of a group should never exceed

1. 35 persons
2. 30 persons
3. 25 persons

4. 15 persons
Options :
5531729633, 1
SL31729634. 2
5531729535 2
SL317296306. 4

Question Number : 150 Question Id : 5531722424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
In a communication process, a receiver is a

1. Message pathway
2. Person who encodes an idea
3. Person who decodes a message

4. Message interface
Options :
5531729637, 1
5531729638 2
5531729639 3
5531729640, 4

Question Number : 151 Question Id : 5531722425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match the items in list A with items given in list B.

ListA ListB
(i) Beetroot (a) Carotene
(i} Spinach (b) Flavors
(i) Onion (c) Lactose
(iv) Carrots (d) Chlorophyll
(v) Milk (e) Betalanin

Select the correct option:
1. (i) = (e); (ii) = (d; (iii) = (b); (iv) - (a); (v) - (c)
2. (i) = (a); (i) = (c); (iii) = (b); (iv) = (e); (v) - (d)
3. (i) = (d); (ii) = (b); (iii) - (e): (iv) - (a); (v) - (c)
4. (i) = (d); (ii) = (e); (iii) = (b); (iv) = (a); (v) - (e)
Options :
531729641 1
531729642 2

S531723643 5
S5317239644 4

Question Number : 152 Question Id : 5531722426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match the items in list A with items in list B.

List A ListB
(iy Ascites (a) Kidney
(i) Aflatoxicosis (b) Cancer
(iii} Intrinsic factor (c} Mycotoxin
(iv) TNF (d) Abdomen
(vl GFR (e) B

Select the comrect option:
1. (1) = (a); (i) — (c); (iii) - (d); (iv) - (b): (v) - (e)
2. (i) — (b); (i) = (e); (iii) — (c); (iv) - (a); (v) - (d)
3. (1) = (d); (i) — (e); (i) — (e); ()= (b); (v) - (a)
4. (i) — (a); (i) — (b); (iii) — (d); (iv) - (c); (v) - (e)

Options :
5531729645 1

S53172364dE. 2
S531723647. 3
=5317239648. 4

Question Number : 153 Question Id : 5531722427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match the following items of column A with celumn B.

Column A Column B
(i) Theory of psychosocial {a) Identity vs ldentity
development confusion
(il) Theory of psychoanalysis  (b) Erikson
(iii) Infancy {c) Integrity vs Despair
(iv) Adolescence {d) Basic trust vs Basic

mistrust

(v) Elderly (e) Freud

Select the correct option:
1. (i) = (a); (ii) = (c); (iii) — (e); (iv) - (d); (v) - (b)
2. (i) = (by; (i) = (e); (iii) = (d); {iv) - (a); (v) - (c)
3. (1) = (b); (ii) = (e); (iii) - (a); (iv) - (c): (v) - (d)
4. (i) = (e): (i) — (d); (iii) - (e); (iv) - (a); (v) - (b)

Options :

5531729649 1

S531729850. 2

SEZ1729651 2

S531729852. 4

Question Number : 154 Question Id : 5531722428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match the following items of column A with column B.

Column A Column B
(i) Pre-basic education (a) Smt Tarabai Modak
(i)  Kindergarten (b)  McMillan sisters
(iii)  Nursery school (c)  Mahatma Gandhi
(iv)  Father of Modern (d)  Friedrich Froebel
Education
(v) Meadow school (e) Comenius

Select the correct option:
1. (i) = (a); (i) — (c); (iii) — (d); (iv) — (e); (v) - (b}
2. (i) — (e): (i) — (b): (iii) — (d); (iv) — (a); (v) - (e)
3. (i) = (b); (ii) — (d); (iii) - (c); (iv) - (e); (v) - (a)
4. (1) — (c): (it) — (d); (iit) — (b); (iv) — (e); (v) - (a)
Options :
5531729653 1
5531729654, 2

=531723655 3
531723656 4

Question Number : 155 Question Id : 5531722429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match the following itemns of column A with column B,

Column A Column B

(i) Policy {(a) Contract between
individual & LIC

(i)  Premium (b)  Amount of money
paid to LIC to accept risk

{iiiy Insured (c)  The party who seek
protection

{iv) Insurer (d) LIC

{v) 3" party insurance (e)  Motor vehicle

Select the correct option:
1. (i) = (@); (ii) — (e); (iii) - (@); (iv) - (b); (v) - (c)
2. (1) = (e); (i) = (d); (ii) - (e); (iv) = (b); (v) - (a)
3. (i) = (b); (i) — (c); (iit) — (d); (iv) - (a); (v) - (e)
4. (i) - (a); (i1) = (c); (iii) - (e); (iv) - (d); (v} - (b)
Options :
55317296571
SS31723658. 2
5531729859 3
S531729660. 4

Question Number : 156 Question Id : 5531722430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match the following items of column A with column B.
Column A Column B
i) Empirical Approach (a)  Traditional/Classist
{ii} Systems Approach  (b) High productivity through
motivation and good human

relations
(il  Conlingency {c)  Managerial Subsystem
Approach
(iv) Operational (d)  Study of managerial
Approach experience
(v)  Group Behaviour {e) Examine managerial
Approach behaviour in given set of

circumstances
Select the correct option:

1. (i) = (a): (i) = (c). (ill) - (e): (iv) - (d); (v) - (b)
2, (i) = (b); (i) — (c}; (i) — (d); (iv)— (e); (v) - (@)
3. (i) = (d); (ii) - (c}; (iii) - (e); (iv) - (a); (v) - (b)
4. (i) = (b); (it) = (d); (iii) - (e); (i) - (a);, (v) - (c)

Options :

SE521729661. 1

SE31729662. 2

SE531729663. 3

CE521729664. 4

Question Number : 157 Question Id : 5531722431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match the following items of Column A with Column B

Column A Column B

i. Raw Silk a. Fibre stretch

i b. Long chain synthetic
Laces polymer

iii. Blended fabrics c. Mo degumming

iv. Spandex d. Open work fabric

V. g SR e, ‘:f‘arns having 2 or more

fibres
Select the comect option:

1. (i} = (a); (i) = (c); (i) - (d); (iv) ~ (b): (v) - (e)
2. (i)~ (a). (il) — (e): (i) — (d); {iv) - (b); (v) - (c)
3. (i) = (b): (ii) — (d): (iif) — (c); (v}~ (e): (v) - (a)
4. (i) = (c); (i) = (d); (ii)) - (e); (v) - (a): (v) - (b)

Options :

5531729665 1

S531VZ9E6E. 2

S5S1VZ9EEY. 3

S531VZ9668. 4

Question Number : 158 Question Id : 5531722432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match the following items of Column A with Column B

Column A Column B
i. Vatdyes a, Jaquard design
ii. Corduroy b, Calour fastness
iii.  Jute c.. Effect of height
iv. Tapesiry d. Corchorus plant
v. V-shapedlines e. Ribbed, cut, piled fabric

Select the correct raptir::-n:
1..{i) = (b); (i) — (d); (i) — (a); (v) = (c); (v) - (e}
2. (i) = (b); (ii) = (e); (iii) — (d); (iv) - (a); (v) - (c)
3. (i) = (a); (i) = (b); (i) — (c); ()~ (d): (v) - (e)
4. (i) = (d); (ii) = (e} (iii) - (a); (iv) = (b); (v) - (c)
Options :
5531729669 1
S5E1VZ9E70. 2
S531VZ9E71. 3
S531VZ9E72. 4

Question Number : 159 Question Id : 5531722433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match the items in list A with those given in list B correctly.

ListA ListB
(i} CD ROM (a) Interactive multimedia

fii) Video Conferencing (b) Folk media

(i)  Satellite technology {c) Computer stores
media
(ivi Mime & Puppetry (d) Global network media

Select the correct option:
1. (i) = (&) (i) - (c); (iii) — (b); (iv) - (d)
2. (1) = (b); (i) — (c): (i) = (d); (iv) —(a)
3. (i) = (c); (i) = (a); (lii) = (d); (iv) — (b}
4. (i) = (a); (ii) = (c); (i) = (d); (iv) - (b)

Options :

553172396731

S5317Z29674. 2

ELE1729675. =

S5E1VZ9E7E. 4

Question Number : 160 Question Id : 5531722434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Match the following matters in Column A with the actions

in Column B.
Column A Column B
L and Group a. ::tn;?d meliljus‘olumes
Discussion ; - .ﬂg o e
situations
i, b. Opinion of subjectsin a
Interview group are observed and
noted
i, s c. Document that contains a
set of questions
v, d. Set of short cut questions
Questionnaire in which responses are

recorded by researchers
Select the correct option:

1.(i) = (a); (i) = (c); (iii) = (d), (iv) ~ (b)
2. (i} = (b); (ii) — (d); (iii) ~ (a); (iv) - (c)
3. (i} = (b); (i) = (c); (iii) - (d); (iv) - (a)
4. (i) = (c); (ii) = (a); (iii) = (d); (iv) - (b)

Options :

S5317VZ29677. 1

SEE1729E7VE. 2

S531VZ9E73. 3

S531729650. 4






